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Name
Application No.
Subject CLASS (1-5)- GENERAL SUBJECT

Date of Examination 2024-03-06 10:00:00

QID : 151 - Complete the sentence using appropriate option.
| working all afternoon and have just finished the assignment.
Options:
1) have been
2) had been
)
)

3) shall be
am

H

Correct Answer: 1) have been

Candidate Answer: 4) am

QID : 152 - Complete the sentence using appropriate option.
The Chief guest, with his wife,..............
Options:

1) has left

2) are leaving

3) have left
)

4) left
Correct Answer: 1) has left

Candidate Answer: 1) has left
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"Welcome to the ceremony.”

Options:

1
2
3
4

present perfect tense

present indefinite tense

past indefinite tense
past perfect tense

—_— — ~— ~—

Correct Answer: 2) present indefinite tense

Candidate Answer: 2) present indefinite tense

You should not............. the worst.
Options:
1) Assumed
2) Assuming
)
)

3) Assume
4) Assumes

Correct Answer: 3) Assume

Candidate Answer: 1) Assumed

indirect speech

"He is of a very polite nature", she said.
She said that........... of a very polite nature.

Options:

1)

2) he was
3)heis

4) she was

2 of 75

QID : 153 - Identify the tense used in the given sentence.

QID : 154 - Complete the sentence using appropriate option

QID : 155 - Select the most appropriate option to change the sentence from direct speech to
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Correct Answer: 2) he was

Candidate Answer: 2) he was

QID : 156 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

Rita said, "I had a headache yesterday".
Rita told that .............. a headache the ......................

Options:
1) had/following day
2) she had/next day

)

)
3) | had/coming day
4) she had/day before

Correct Answer: 4) she had/day before

Candidate Answer: 4) she had/day before

QID : 157 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

Nandi said, "l was playing cricket in the morning".

Nandi ........... thathe ...... playing cricket in the morning
Options:

1) Said to me/have been

2) Told me/had been

3) Asked me/has been

4) Told us/have been

Correct Answer: 2) Told me/had been

Candidate Answer: 2) Told me/had been

QID : 158 - Select the most appropriate option to change the sentence from direct speech to
indirect speech

" | have been walking along the river", he said.
He said that he-------- along the river.
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Options:

1) Had been walking
2) Should be walking

3) Hasto walk
4) Have to walk

Correct Answer: 1) Had been walking

Candidate Answer: 1) Had been walking

QID : 159 - f=T : T2 U T U= & AEIRIE I IR a1 faded &1 AT T=A: Tg1 e
& for o< § -

Options:

1) B TeT HTT G- BT ATEIS 8l

2) TR BT {1 -sTeH Bl et

3) A& U T 31yl 3R Ades Trrh gA-ue & i

4) ¢ 31fF F 3P Hem & T S

Correct Answer: 3) HWWE&HW@TWWW-@@%

Candidate Answer: 3) @& HTST &1 gl 3R I Al J--Ue &I et

QID : 160 - &t HToT reA-Rram & forw e 8-

Options:

Correct Answer: 1) T HIN-URAY 1 U/

Candidate Answer: 1) THg HIN-URAY b1 SUTS/dT

QID : 161 - T o1 &P J 9190 & fHa U 8id 82
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Options:

orn=
2,

H

Correct Answer: 3) i

Candidate Answer: 3) <9

QID : 162 - HH F IR foba1 F fra W 82
Options:

SISl

W N =

)
)al
IE]
) ©:

'S

Correct Answer: 2) al

Candidate Answer: 2) al

QID : 163 - ‘98 W AT & I’ 9199 § ‘98’ T g

Options:

Correct Answer: 1) fRZagdrE® Td—mH

Candidate Answer: 3) {15l a/a® Ta—H

50f75

QID : 164 - ‘3T I HIAHY 81 I’ foh 919 &1 3180 872
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Correct Answer: 4) $OIAEAD dIF]

Candidate Answer:

4) IBMAED dl|]

QID : 165 - ‘3T Teq &-

Options:

)
)
)
)

'S

Correct Answer: 1) dd&dH

Candidate Answer: 1) ddH

QID : 166 - F=f & WG TA B, TaH! FHANT WR T BHI
gated & qagm &1, v faaq sam &)

I SRAATQR 317U, TS & W= amg

&1 1Y 3R Y 31T &, WR 39 i e s g

@ S &1 ad Uid AT, @ SO R THH

B 98] =i § WA, uRer wR SRy 7 IaTd

gty ag Hi ¢ 7 a1, SR THTSt &7 & 7 qhl

Idc R & dTe T, S T SRTe Je= gl

S AT FgS W BT ¢, Ugd fade 7R S g

TS & 31 B

Correct Answer: 4) IUdad it

6 of 75
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Candidate Answer: 2) HI™

QID : 167 - ¥=f & WG T &I, TaH! YHART WR T BHI
At & qrg &1, Hivor fataq sam &

YA SRAATQR 317U, TS & W= amg

&1 AT AR 31T &, R 399 +ft g qren g

@ S &I Had Uid AT, TG SO R THH

& 98] =i § WA, uRe wR Sy 7 IaTd

gae ag H ¢ 7 a1, MR THTet &7 & 5 qhl

Idc R & dTe T, S AT SRTe Je= gl

S AT 7S W BT ¢, U8 fade 7R e |

IR H IUH g:

Options:

)T
) TRk
) S
)

HON -

W
Correct Answer: 2) UR

Candidate Answer: 2) R

QID : 168 - i1 &1 G T B, TaD! FANT WR A BI
ST B IHe &1, v fa&Ew sam &

YT BRATYR 31T, UTSd T WM AlY

& 1Y SR <Y 31T &, WR 394 i e amem

@ ¢ & dad Uid AT, @ SO R JHH

20 gt Gt ¥ WA, ufeH W 3y 7 IaTdh

g ag v ¢ 7 Fop1, SR THTel &1 o = 9l

IAC BR BT S T, S AT SrTeT e gl

o TR HYS R B &, Ugel fdde R Sl &
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Correct Answer: 3) 3

Candidate Answer: 3) 3<J

QID : 169 - F=f &1 WG TAH B, D! FANT WR T BI
AT &1 T &1, i fases sam &t

YITAH GIRATGR 1T, UTSd BT TG A

Q1 A SR 31T &), TR 399 oft afg qren |

@ S & Had Uig T, @Y ST R THE

&Y I8 GRit & |, uReH W 4y 7 I3

g ag v ¢ 7 Ia1, SR FHTel &1 o = qhl

IdC BR BT S T, S AT SrTed e gl

OIS TR 7S R BT &, Uge! [dde #R STl g

I T Gafgar 7

Correct Answer: 4) ot

Candidate Answer: 4) 4t

QID : 170 - B3 & IE §aH &I, JabH! JHF R T B
At & qag &1, Hivor f9ias sam &

I SRAFTQR 31T, UISd & He=M amg

QY =TT 3R 3T &Y, W 39H i afe srer @)

@ S &1 had Uid AT, @1 SO R THH

&Y I8 GRit I WA, uReH W 4Ry 7 I

gty g ot ¢ 9 I, SRAY JHTST &1 & 7 e

IAC R & dle T, S T SRTe A= gl

STe AR S TR BT §, Ugdl {99 TR A & |

#iepwT gl 3T U7
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Options:

) HYRT

) SRR
) pEaA
)

1
2
3
4) g

Correct Answer: 2) BRI

Candidate Answer: 2) BRHIQR

QID : 171 - T3f &1 G T B, GED! FANT W T BI
S B IHe &1, v fa&Ey s 3!

YT BRATYR 31T, UTSd o1 WM A

& 1Y R <Y 31T &, W 394 i IS amen 8

@ ¢ & had Uid AT, @ SO R THH

20 gt Gt ¥ WA, ufeH W 3y 7 IaTdh

g ag v ¢ 7 Iop1, SR FHTel &1 o - qhl

¢ BR BT S T, S AT STeT e gl

e TR HYS R B &, Ugel fddes 1R Sl &

gt &1 34 B

Correct Answer: 1) e T

Candidate Answer: 1) el Il
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QID : 172 - fd=r : 9 AU 7T 31w ) Ugax U8 T URAT & Te/SUgad SR aldl [adbed &
gMT |

TR YIS 9gd HeY Aiied &1 g1 4 +t 31 I8! grena H Igi o < {1 R Aifed &1 e AR
SUIRBRY, HEFHI-cRGD] 3R BIadl IR FIe gTelt 81 Sl ¢ | H U Uid USle 1 a1 Bl g1 IR
UoTe o gaT Hiad B -t Uiy Jranfores el & A Share! ood § iid-Uid 81 398 YRR,
3T, M0 B ge 3R Th T AR T B 91d $1 7S & | B, 8 WIS 9GAd &I oRewd §
3R 37 Hiaarsll & a1 0 95 38 ¢ Y Hal T § W 3761 WU o4l T8l 5| 39 W UHH $TUHE
21 ufkom g § % 98 ORT Sohae U BIe-8 ST R iy 38 a1 8 | 99, WitfAs st w@q
a1l U BIe-A T H 71 o1 Bil & | b, HoTeR, S 0 ) 3 3@ 8, o 9 St bl ORom
IR €, 3 38 JHY € TeT U B 1 59 1 Y gy done W g2 e fawafaenad & e
H1 HeR S & fore Tifid faan man| 59 g3 St uge e B wnfiyd g & foe gamn mn, a
Yot H g Yid R & U Ul U 3T I &Y S Ao Sl § TR $Rd gU AT AR ° 81
qreft HiHe 1 Wi # S 1 e fovan ot et 3 g, e8I I1Y dl 319 dgwG (g7 SfR $d H AR
S g1 & iR 81, 98T Ye-§c U PR UTed FgIgR & SIS " B §9d gU Hel-"3, 31U 3R dTed
&N N T & e oS quft IS gERT S, 3y U1 R &) e gahd |

g1 wigal Bt T4 Uty F o7 I 872

Options:

1) 3 B3 o 3 FU gaT &

2) 3 ga1 Hfa e e == fpar 8
3) 3 gaT B3 S ¢ v} R fora 38 §
4) 3 HI S U oo R fera W &

Correct Answer: 4) aaﬁiﬁa‘rwﬁm‘rmm@%
Candidate Answer: 3) awmﬁwmmm@%

QID : 173 - fic=T : 7 AU 7T 3= 1 Ugax Ue T URAT & HE/SUgad SR aldl [ddhed &l
ElE

TR UIST 9 HeY Wi 1 gia1 3+t 31 I8 gTard # Fgl it &adl § | I Ao 1 R AR
SURINHRI, HEMHI-cad! R Had! TR FI¢ FTal &1 ol ¢ | H (0 Uid Ud &1 o1 BT 1 TR
UoTTe B gar Haa Bt 7t ty Wi saawT & RIed Share sios § Sd-id 8 | 39 YRR,
3T, JN0T T g 3R U Tt HaRIT T &1 a1 BI TS 5| B, BH YHINTS 9Ga1d &) oRevd §
3R 37 Bfarait # o1d df 9gd 3/ 71 Q PE! T § W 37T WU ¢4l 81 81 39 W UfHH & GHIT
2| IRkomH 9% § % I8 IRT Shad U Ble- SIS R Wi 38 11 8| 99, Wi w0 vaq
1A T B1e-8 Jug § 37! 1 gl &1 b, FoigR, ol uuT b1 91t 38 §, 98 9§ Sepere &bt IRom
T A8 €, 3 30 JHS & T8l UTd 8| 39 91e ARt A1gyfi Uee § g3 A faRafaeed & die
BT HeR S & g I fosan T 519 g3 S9! ggalt HifeT & [nfid g & fod gamn @, df §
UoTd B g HaTR & U ATl U fo =\ 1 310 I SRt & TTR19 R gU A SR & g1
reft WiHe Y e & S 1 e fosan ot foreht 3 g, g aR a1 df omd dgdg (G SR $d § AR
S € 5 fhd 81, 98T Ye-ge U PR UTed J8IgR § SIS " A9 g9 gU FHel-"3, 31U 3R dTed
& A U S Il SIS At BIS GIRT ST, "1 T R &l e Ihd |

UoTe & gaT Hiadl & e &l fawd g-
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Options:

)
) YSCTAR
)
)

HOON -

o
IR

v

Correct Answer: 3) HIG-IY

Candidate Answer: 2) YR

QID : 174 - &= : 2 fRU TTU orfedde & Uga U U URAl & WEYSUged SR aldl fadhed &
g |

TR YIS 9gd HeY Aifed &1 gaT 4 +ft 31 FET grena # Ig1 o S {1 RV Aifed BT HhrH AR
SUIRIBRY, HEHI-cRGD] 3R BIAdl IR FIe gTelt 81 Sl ¢ | H U Uid USle 1 a1 Bl g1 IR
UoTe o gaT o Bt 1t Uyl Jrnfores el & A Share! oiod § 3iid-Ud g1 398 YRR,
3T, RN0T BT G 3R T T4 AR T &1 a1 BI 15 & | B, B8 AHISID 9GAMd &1 oRewd §
3R 37 Bigarstt ¥ o1d o 98d 3 &7 J Pel T & W 70T WU o4! 78] 81 39 W UfHH &1 GHIT
2| ORuTH 9% B % I8 URT SH o U Be-4 SIS R HiHd X8 A1 5 | 99, Wi w0t x@q
a1 T Bie-3 g § 37! §1d 81l & | b, oy, Sl TTUT o1 9ief X8 §, T 9 Seperra &b SRom
3T ETEd €, 3 38 I € T U 1 39 Irel A wiqufy uoe § g3 e faxafaaner & dRe
H1 TR S & fore Tifdd fosan man| Se g3 St uge Wi B wnfiyd g9 & for gaman man, &
Yo H g fid R & U Ul U 37 2 &Y 3= Ao Sl | TR $Rd gU AT AR # g1
qreft HiHe 1 e & S 1 foreh fovan ot forelt 3 g, g8 A1y dl 319 dgG (G SR $d § AR
S €t 5 iR 81, 98T Ye-gc U PR UTed FgIgR § SIS " A §9d gU FHel-"3, 31U 3R dTed
& H U S el S 1" it BIS gIRT ST, "YU R Bl A8l ghd |

piadrail o WRey ¢ TE B 1" e § 3ifiyum @-

Options:

1) Hfaarstt & wrsg ufdm J guifag 761 g1
2) Sfgarsit o sifieafad ufym I ywifad 21
3) Harsil BT UBTH UfEH I gHId 81
4) Hiaarst 7 Tz ufEW § yvifad 3

Correct Answer: 2) Hiaarsif & Sifieafaa ufdy § yufad g
Candidate Answer: 2) Hfadr3f @ 3ifieafad uftm I yuIfdd g1
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QID : 175 - fd=T : 9 AU 77U 3rwde ) Ugax U8 T URAT & Te/SUgad SR aldl [adbed &
gMT |

TR YIS 9gd HeY Aiied &1 g1 4 +t 31 I8! grena H Igi o < {1 R Aifed &1 e AR
SUIRBRY, HEFHI-cRGD] 3R BIadl IR FIe gTelt 81 Sl ¢ | H U Uid USle 1 a1 Bl g1 IR
UoTe o gaT Hiad B -t Uiy Jranfores el & A Share! ood § iid-Uid 81 398 YRR,
3T, M0 B ge 3R Th T AR T B 91d $1 7S & | B, 8 WIS 9GAd &I oRewd §
3R 37 Hiaarsll & a1 0 95 38 ¢ Y Hal T § W 3761 WU o4l T8l 5| 39 W UHH $TUHE
21 ufkom g § % 98 ORT Sohae U BIe-8 ST R iy 38 a1 8 | 99, WitfAs st w@q
a1l U BIe-A T H 71 o1 Bil & | b, HoTeR, S 0 ) 3 3@ 8, o 9 St bl ORom
IR €, 3 38 JHY € TeT U B 1 59 1 Y gy done W g2 e fawafaenad & e
H1 HeR S & fore Tifid faan man| 59 g3 St uge e B wnfiyd g & foe gamn mn, a
Yot H g Yid R & U Ul U 3T I &Y S Ao Sl § TR $Rd gU AT AR ° 81
qreft HiHe 1 Wi # S 1 e fovan ot et 3 g, e8I I1Y dl 319 dgwG (g7 SfR $d H AR
S g1 & iR 81, 98T Ye-§c U PR UTed FgIgR & SIS " B §9d gU Hel-"3, 31U 3R dTed
&N N T & e oS quft IS gERT S, 3y U1 R &) e gahd |

3G P MYR W Fd1ST b fhTepT 2T 81 3T 71

Options:

1) HIT 3R HIGRY BT
2) BT} 3R TGDT BT
3) foramt oiR ToTgRY &1
4) fHamY 3R wfaat o1

Correct Answer: 2) Hfaal 3R AaD! BT
Candidate Answer: 3) fHIHI 3R TSI &1

QID : 176 - fiq=T : 7 AU 7T 3= ! Ugax Je T URAT o HE/SUgad SR aldl [ddhed &l
Bl

TR U151 9gd HeY Wi 1 ga1 3 it 31 I8 gTard # I8l it el § | I Ao 1 R GHR
SURINHRI, HEMHI-cad! R Had! TR FIC TTal &1 ol ¢ | H (0 Uid Ud &1 91 BT 1 TR
UoTTe B gaT Haa ot Tt dy Wi saawT & RIed Share sios § Sd-Uid 8 | 39 YRR,
3T, JN0T T g 3R U Tt AT T &1 a1 BI TS 5| B, B8 WIS 9Ga1d &) oRevd §
3R 37 Bfarait & o1d df 9gd 3/ 71 Q PEl T § W 37T WU ¢! 81 81 39 W Uf¥H & GHIT
21 URkomH g § % I8 UR1 Shad U Ble- SIS R Wi 38 A1 8| 99, Wi w0 @
1A T B1e-3 Jug § 37! 1 gl &1 bgr, FoigR, Sl Qur 1 91t 38 §, 98 9§ Sepere &bt IRom
ST AR €, 3 0 JHS & 81 UTd 81 39 91d ARt A1gyfH Ueie § g3 e faRafaeed & Hie
BT e S & e I fosan T 519 g3 S9! ggat HifeT 8 [nfid gH & fod gamn mn, af &
UoTTe B g HaTR & U ATl U fo =\ 1 310 I SRt 9 TTR19 R gU A SR & g1
reft WiHe Y e & S 1 i faan ot foreht 3 g, g aR 91 dl ofd dg g (G ofR $d § AR
Y € 5 fhRd 81, 98T Ye-gc U PR UTed F8IgR § SIS " A9 g9 gU FHel-"3, 317 3R dTed
& N A U S el S 1" it BIS GIRT ST, "YU R &l Ae a1

3G P SMYR W FATSY [P USTE Uid & ST WHFId: 31 Ug-d g
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Options:
FUEUN
e

Correct Answer: 1) Hal-giit

Candidate Answer: 1) %f—@ﬂ

HON -

QID : 177 - &= : R fRU TTU orfedde & Uga U U URAl & WEYSUged SR aldl fadhed &
g |

TR YIS 9gd HeY Aifed &1 g1 § +ft 31 I8! grena H Igi o < {1 RV Ao BT R AR
SUIRIBRY, HEHI-eRGD] 3R ATl W FIe gTelt 51 Sl ¢ 1 H U Ufd USle 1 a1 Bl g1 IR
UoTe o gaT Hiad B 1t Uiyl Jrnfores a1 & A Share! oiod § iid-Uid g1 398 YRR,
31T, RM0T BT G 3R T T4 AR T &1 a1 BI 15 ¢ | B, GH WIS 9GAId &1 oRevd §
3R 37 Bigarstt & o1d o 98d 3 &7 J Pel T & W 70T WU ¢3! 78] 81 39 W Uf¥H BT GHIT
2| ORuTH 9% B % I8 URT SH a1 U Be-4 SIS R Hiid 38 A1 5 | 99, Wi w0t x@q
a1 T Ble-8 g § 37! a1 81l & | b, gy, Sl TTWUT o1 9ief X8 §, o 9 Sepera &bt IRom
3T TTEd €, 3 38 9 € T U 1 39 Irel A "iqufy uoe # g3 e faxafaarer & dhe
HT TR T & fore Tifdd faan man| 59 g3 St uge Wi B wnfiyd 9 & for gaman man, &
Yore H g fidF R & U Ul T 3T 2 &bt 3= Ao Sl | =Y $Rd gU AT AR § g1
qreft HiHe 1 e & S 1 foreh fovan ot foreit 3 g, "g8R A1y dl 319 dgG (g7 SR $d § gAR
S €t & iR 81, 98T Ye-gc U PR UTed F8IgR § SIS " A §9d gU Hel-"a, 31U 3R dTed
g H U S I S 1" it BIS gIRT ST, "YU R Bl A8l ghd |

T TR R 8 o 9 a2

Correct Answer: 2) SHIHT TR TR &A1 36T

Candidate Answer: 4) S ¥R R daard = 371
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QID : 178 - fd=T : T AU 77U 31w ) Ugax U8 T URAT & TEI/SUgad SR aldl [ddbed &
gMT |

TR YIS 9gd HeY Aiied &1 g1 4 +t 31 I8! grena H Igi o < {1 R Aifed &1 e AR
SUIRBRY, HEFHI-cRGD] 3R BIadl IR FIe gTelt 81 Sl ¢ | H U Uid USle 1 a1 Bl g1 IR
UoTe o gaT Hiad B -t Uiy Jranfores el & A Share! ood § iid-Uid 81 398 YRR,
3T, M0 B ge 3R Th T AR T B 91d $1 7S & | B, 8 WIS 9GAd &I oRewd §
3R 37 Hiaarsll & a1 0 95 38 ¢ Y Hal T § W 3761 WU o4l T8l 5| 39 W UHH $TUHE
21 ufkom g § % 98 ORT Sohae U BIe-8 ST R iy 38 a1 8 | 99, WitfAs st w@q
a1l U BIe-A T H 71 o1 Bil & | b, HoTeR, S 0 ) 3 3@ 8, o 9 St bl ORom
IR €, 3 38 JHY € TeT U B 1 59 1 Y gy done W g2 e fawafaenad & e
H1 HeR S & fore Tifid faan man| 59 g3 St uge e B wnfiyd g & foe gamn mn, a
Yot H g Yid R & U Ul U 3T I &Y S Ao Sl § TR $Rd gU AT AR ° 81
qreft HiHe 1 Wi # S 1 e fovan ot et 3 g, e8I I1Y dl 319 dgwG (g7 SfR $d H AR
S g1 & iR 81, 98T Ye-§c U PR UTed FgIgR & SIS " B §9d gU Hel-"3, 31U 3R dTed
&N N T & e oS quft IS gERT S, 3y U1 R &) e gahd |

TH R UYH &1 UHTT g 1" 9T 8-

Correct Answer: 1) IEUIEEIEED

Candidate Answer: 1) IEHIECIEED

QID : 179 - fic=T : 7 AU 7T 3= 1 Ugax Jg T URAl & HE/SUgad SR aldl [dded &l
ElE

TR U151 9gd HeY Wi 1 gia1 3 it 31 I8 gTard # Fgl it &adl § | I Ao 1 M GHAR
SURINHRI, HEMI-cad! R Had! TR FI¢ TTaT &1 ol ¢ | H (0 Uid Ud &1 o1 Bl 1 TR
UoTTe B gaT Haa Bt Tt dy [ saawT & RIed Share sios § -3 8 | 39 YRR,
3T, RN0T T g 3R U Tt RN §11 &1 a1 BI TS 5| B, B8 YIS 95a1d &) oRevd §
3R 37 Bfarait # o1d df 9gd 3/ 71 Q PEl T § W 37T WU ¢4l 81 81 39 W Uf¥H &1 GHIT
21 IRkomH 9% § % I8 IR1 SHhad U Ble- SIS IR Wi 38 3T 8| 99, Wi w0t vaq
1A T B1e-8 g § 37! 1 gl &1 b, FoigR, Sl Qur 1 91t 38 §, o8 9§ Sepere &bt IRom
T AR €, 3 30 JHS & T8l UTd 8| 39 9Ie ARt A1gyfH Ueie § g3 A faRafaeed & die
BT HeR S & g I foan T 519 g3 S9! ggatt HifeT & [nfid gH o fod gamn mn, df &
UoTe B g HaTR & U oT| U o =Im| 1 310 I SRt 9 TTR19 R gU A SR & g1
reft Wiee 3 e & S 1 e fasan ot foreht 3 g, g aR a1 dl od dgdg (G SfR $d § AR
Y € 5 fha 81, 98T Ye-ge U PR UTed F8IgR § SIS " A9 g9 gU FHel-"3, 317 3R dTed
& A U S el S 1 it BIS GIRT ST, "1 T R Bl Ae ghd |
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Options:

1) FEAH
2) foriwor
3) fopan
4) ¥
Correct Answer: 2) fa=reoT

Candidate Answer: 2) fa=woT

QID : 180 - fI&=T : 7 U T 3= & U I T U=l & Wgl/SUgad SR aldl [dded &l
g |

TR YIS 9gd HeY Aifed &1 gaT 4 +ft 31 FET grena # Ig1 o S {1 RV Aifed BT HhrH AR
SUIRIBRY, HEHI-cRGD] 3R BIAdl IR FIe gTelt 81 Sl ¢ | H U Uid USle 1 a1 Bl g1 IR
UoTe o gaT o Bt 1t Uyl Jrnfores el & A Share! oiod § 3iid-Ud g1 398 YRR,
3T, RN0T BT G 3R T T4 AR T &1 a1 BI 15 & | B, B8 AHISID 9GAMd &1 oRewd §
3R 37 Bigarstt ¥ o1d o 98d 3 &7 J Pel T & W 70T WU o4! 78] 81 39 W UfHH &1 GHIT
2| ORuTH 9% B % I8 URT SH o U Be-4 SIS R HiHd X8 A1 5 | 99, Wi w0t x@q
a1 T Bie-3 g § 37! §1d 81l & | b, oy, Sl TTUT o1 9ief X8 §, T 9 Seperra &b SRom
3T ETEd €, 3 38 I € T U 1 39 Irel A wiqufy uoe § g3 e faxafaaner & dRe
H1 TR S & fore Tifdd fosan man| Se g3 St uge Wi B wnfiyd g9 & for gaman man, &
Yo H g fid R & U Ul U 37 2 &Y 3= Ao Sl | TR $Rd gU AT AR # g1
qreft HiHe 1 e & S 1 foreh fovan ot forelt 3 g, g8 A1y dl 319 dgG (G SR $d § AR
S €t 5 iR 81, 98T Ye-gc U PR UTed FgIgR § SIS " A §9d gU FHel-"3, 31U 3R dTed
& H U S el S 1" it BIS gIRT ST, "YU R Bl A8l ghd |

JeHE &1 31 B-

Options:
3R
Pl
CISILCI
gt

Correct Answer: 4) @ﬂ

)
)
)
)

A OWON =

Candidate Answer: 4) T:E'ﬁ

QID : 181 - 0.003 x0.02="?

0.003x0.02="7
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Correct Answer: 4) 0.000062

Candidate Answer: 3) 0.0006

QID : 182 - What is the distance travelled by a car which travelled at a speed of 80km/hr for 3
hours and 30 minutes?

TP HR gRI 3 °e 3R 30 fie aa 80 fartfieer ot ifd & 0 &t 718 R RN 8 2
Options:

1) 275km
275 foeit
2) 280km
280 fordit
3) 285km
285 Tt
4) 290km
290 Tt

Correct Answer: 1) 275km

275 fopt

Candidate Answer: 2) 280km
280 fopet

QID : 183 - 2+2-2x2+2=?
2+42-2x2+2=7

Options:

—

o2
AN - O

Correct Answer: 3) 2
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Candidate Answer: 3) 2

QID : 184 - [2|+|-2|+(2)? + (-2)> = ?
121+ 1-21 + (2)2 + (-2)? =?

Options:

Correct Answer: 4) 12

Candidate Answer: 4) 12

QID : 185 - In a town of population 100,000, 20% have internet connection. And those who have
internet connection, 15% use PTCL internet service. How many people have internet service other
than PTCL?

100,000 3ATSTET TS T TR H, 20% P U SeII¢ HaRHA g1 3R S UM gexe =M g,
gﬂﬁ@rw%d’lﬂ@ws’zﬁ?@mwwafﬂﬁ% UieRiiea & 3rarar fobd ail & U1 Sex-e Jal
?

Options:

1) 3,000

2) 7,000

3) 12,000

4) 17,000

Correct Answer: 4) 17,000

Candidate Answer: 4) 17,000
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QID : 186 - The product of two numbers is 9375 and the quotient, when the larger one is divided
by the smaller, is 15. The sum of the number is:

3 T3 BT UHET 9375 § 3R Tot WA &I BIc W F fIHIRTG H IR HFTHGS 15 ST 3|
TRSHAT BT AT B:

Options:

1) 395

2) 380

3) 400

4) 425

Correct Answer: 3) 400

Candidate Answer: 3) 400

QID : 187 - Which of the following states of India does not have common border with Myanmar?
YRd & Fafafad & ¥ {5y o9 & [ER & 91y J1=1 9T 18 62
Options:

1) Assam

SHIH

2) Nagaland

BRI

3) Arunachal Pradesh
ST Tl

4) Mizoram

fireRe

Correct Answer: 1) Assam
3HIH

Candidate Answer: 2) Nagaland

BN

QID : 188 - Select the following:
Under which of the following conditions we can boil water easily at room temperature?

ﬁl’ﬁﬁ@ﬁﬁﬂﬂ?ﬁ
foferad 7 @ fog oIS & 87 R & TT0HH IR UM &) - 3 9T Jhd 82
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Options:
1) At high pressure

3o qdld IR
2) At atmospheric pressure

IGHSH Gald TR

3) At low pressure

$hH qdld WX

4) At very high pressure
3d I qald W

Correct Answer: 3) At low pressure
HH qdld IR

Candidate Answer: 2) At atmospheric pressure

IgHS Y gaTd IR

QID : 189 - In a kabaddi game, how many active players would participate from each team?
FHIg! 9d § UAD < I fva- Afehg Raams! ymT e

Options:

Correct Answer: 4) 7

Candidate Answer: 4) 7

QID : 190 - Which day is celebrated as World Water Day?

3y oIt ieag & & § DI 91 &= g o 82
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Options:

1) 22nd Mar
22 ATd

2) 10th Dec
10 fedaR

3) 13th Nov
13 TdR

4) 27th Jan

27 SR

Correct Answer: 1) 22nd Mar

22 HTE

Candidate Answer: 1) 22nd Mar
22 A

QID : 191 - Which day is celebrated as Desh Prem Divas?

DI 1 feT T 09 fegw & =0 & H= o 82
Options:

1) 15th Jun

15 9
2) 19th Jul
19 JaTs

3) 23th Jan
23 SR
4) 20th Apr
20 30d

Correct Answer: 3) 23th Jan
23 S

Candidate Answer: 4) 20th Apr
20 3

QID : 192 - "Pyaar Ka Paudha" campaign has been launched by which Indian state ?

"R BT AT A fbg YR s gRT YR fobar 71 82
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Options:

1) Uttar Pradesh
IR UG

2) Gujrat

TSRTd

3) Bihar

fogR

4) Madhya Pradesh

e Yo

Correct Answer: 3) Bihar

fagR

Candidate Answer: 3) Bihar

fosR

QID : 193 - Which country’s Prime Minister was granted the ‘Grand Cross of the Order of Honour’
by Greece in 20237

2023 H M9 gRT ford T & U1 ) US 1Y 36 < IS 31 AR U fhar mar?

Correct Answer: 4) India
YRd

Candidate Answer: 4) India
HRd

QID : 194 - Who is the first woman judge of the Supreme Court?

gdfea <araTerd & Ugel! Afgel Ui B 82
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Options:

1) Justice Fathima Beevi
T It ofteft
2) Justice Sujata Manohar

:qmqﬁfwmﬁ'ﬂ

3) Justice Ruma Pal

amtﬁmw

4) Justice Gyan Sudha Misra

mmq%aﬁgwﬁsn

Correct Answer: 1) Justice Fathima Beevi

IRIHf Wit sitelt

Candidate Answer: 1) Justice Fathima Beevi

T R St

QID : 195 - In a progressive classroom
T YirfaRie HamH -

Options:

1) a teacher should follow fixed curriculum.

YD D! ST UIGUHH PI YT AT Mg

2) the emphasis should be on competition among students.

faenfiar & ufaegef o 5@ g1 =rfgul

3) ample opportunities should be provided for construction of knowledge.
I B! II & o TR Wb U™ A ATl

4) students should be labelled on the basis of their academic scores.

faenffal o 3% BT 3idl & YR W AMHIHd BT A1RTI

Correct Answer: 3) ample opportunities should be provided for construction of knowledge.

I B! T & T TR Wb U™ $A AT

Candidate Answer: 3) ample opportunities should be provided for construction of knowledge.

IE B WF & T IR Hih U™ $HA AT

QID : 196 - According to Right of Persons with Disabilities Act (2016), which of the following term
is appropriate to use?

e f¥IeR iffam (2016) & SIUR, 1 T A fory wreeTach o7 UaRT IUged 872
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Options:

1) Retarded student

Hiqd B

2) Handicapped student
ICEZSIUICIE]

3) Student with physical disability
o o edifes fgaammar 31

4) Students with crippled body
BT foraanT Srerad IRR g

Correct Answer: 3) Student with physical disability

3 R IR fesaimar g1

Candidate Answer: 2) Handicapped student
ICEZNINIEIE]

QID : 197 - Problem-solving abilities can be facilitated by
TT-ATY &arsit & g TR gare foar o wedl 872
Options:

1) focusing on drill and practice.

TR 3T 3R FHRAGIH W AR S |

2) encouraging fixed process of solving the problems.
TSt & A o 1 UithdT & WA DI JeTal o |
3) encouraging use of analogies.

JIREUT & SEIATA B 9¢1dl Shr |

4) generating fear among students.

fenfial & &3 @Y i YT R

Correct Answer: 3) encouraging use of analogies.

TJIR=UT & SEIATA B 9¢1dl Shr |

Candidate Answer: 1) focusing on drill and practice.

AR 3N 3R S0 TR SR SHR |

QID : 198 - Ruhi believes that she did not study properly which is why she did not get good marks
in her science test though she can do science quite well. She is attributing her performance to

8! BT 1 ¢ fob 394 31 A UgTs el ot 2t o BRI 39 fag &) udten H sy TwaR &)
3T Safer a8 fagm o 9gd 3resT UeRH &R Tdbdl 81 Fa! U+ UeRH &1 SRIYT fhd HRE HI IR

®E?
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Options:

1) Environmental factors
TIaRUNI HREB

2) Lack of ability

Il Hi HH

3) Lack of effort

DI Pt BT

4) Tough luck

DS HIY

Correct Answer: 3) Lack of effort

DI BT DA

Candidate Answer: 3) Lack of effort
DI BT HHI

QID : 199 - Which of the following is an effective method to enhance problem-solving skills in
children?

T H GHRI-GHIY B Bl g P fag REfiiad # ¥ oi9-a1 gHidt dier 82
Options:

1) Giving them opportunities to brainstorm and make intuitive guesses

I Jf HYT PR SR HEol A T & TR &l

2) Providing them with ready-made solutions to problems

3% THTSH BT TR FHTH U FHRAT

3) Discouraging independent thinking and focusing on declarative knowledge
Wi fid BT galced ST AR DIV JH TR &H bigd HA

4) Encouraging them to avoid difficult problems

HS TE3M F F9 & Y I8 UiTed deAl

Correct Answer: 1) Giving them opportunities to brainstorm and make intuitive guesses

3% gfS HYF PR 3R TGl STAM T & TR &l

Candidate Answer: 1) Giving them opportunities to brainstorm and make intuitive guesses

3% i T A 3R TGl SITAM T & TR &l

QID : 200 - Which one of the following statements is true about the role of heredity and
environment?

STIAfRImT 3R TafaRur &t YT & IR A e # ¥ SH-I FUT I § 2
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Options:

1) Certain aspects of development are influenced more by heredity and others more by
environment.

AP & $T Ugq ATIARIFAT 3R $3 37 yafarur § 3ifdre yIfad g g

2) A child's ability to learn and perform is completely decided by the genes.

TREA SR UG B B T oed DI &l oil gRT 43 g 9 Feid T ot © |

3) Good care and a nutritious diet can fight off any disorder a child is born with.

3B UTS 3R NYP MR T2 & ol 1t Sord fadR B R R ThaT & |

4) Environment plays a significant role only in the child's language development

TafeRUl Had s & HI-faeer H Hewqul YfHeT AT 8|

Correct Answer: 1) Certain aspects of development are influenced more by heredity and others
more by environment.

AP & & Ugq ARG 3R $3 31 TafaR0T § 31 guifad gd g

Candidate Answer: 1) Certain aspects of development are influenced more by heredity and
others more by environment.

AP & T Uge ATIARIBT 3R $3 3 TR I ifAF TIfad g1 g1

QID : 201 - Who wrote the book "The Communist Manifesto," which laid the foundation for socialist
ideas?

" HRFRE A" s fean fordt, foram ameare faemt & g w@t?
Options:

1) Karl Marx and Friedrich Engels

HTe AR 3R e el
2) Vladimir Lenin

ATCHR A

3) Joseph Stalin

St e

4) Leon Trotsky
AV N

Correct Answer: 1) Karl Marx and Friedrich Engels

PIe ATRT 3R s T

Candidate Answer: 1) Karl Marx and Friedrich Engels

HIet I 3R e T

QID : 202 - Which of the following personalities quoted, “Democracy is of the people, for the
people, by the people™?

fafifad & ¥ fg cufdia 3 o8, "dieda A &1, i & fRre, a gR1e"?
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Options:

1) Mahatma Gandhi
HETEH it

2) Albert Einstein

THC ST

3) Abraham Lincoln
3fsired fefep

4) Rabindranath Tagore

ST TR

Correct Answer: 3) Abraham Lincoln

3fsTgH foih

Candidate Answer: 3) Abraham Lincoln

3{sTTgH feich

QID : 203 - How many languages are included in the Eighth Schedule of the Indian Constitution?
YRATT e Bt 3adt srget # faramt HTwTe i 872

Options:

Correct Answer: 2) 22

Candidate Answer: 2) 22

QID : 204 - Which among the following is an example of the unitary system of government?

faferRad H § B9 ThTds UG YUl T IST8R0 g2
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Options:

1) Belgium

Sfcsas

2) Sri Lanka

SIREal

3) Both Sri Lanka and Belgium
et 3R afcsrm gl

4) none of these

39 A BIE Tl

Correct Answer: 2) SriLanka

PIRER]

Candidate Answer: 3) Both Sri Lanka and Belgium

it 3R Sfcorad gt

QID : 205 - Which of the following does not have a federal political system?

Frofafad o 3 fras gty Iomifae oawr T8 872

2) New Zealand
3) Japan

SICIE

4) All

g gt

Correct Answer: 4) All

T gt

Candidate Answer: 1) China

Elkl

QID : 206 - The Palk Strait lies between India and:

I SdsHEHY HRd 3R & g RUd &
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Options:

1) Sri Lanka
2 INE2l
2) Maldives

IS

3) Bangladesh
ERNIER

4) Myanmar
TR

Correct Answer: 1) SriLanka

EIRER]

Candidate Answer: 3) Bangladesh

CIESIER

QID : 207 - Who was the Viceroy of India at the time of the establishment of the Indian National
Congress?

YR ST DY B RITAT S GHI HRT BT IR DI U2
Options:

1) Lord Ripon
s o
2) Lord Lytton

s foed
3) Lord Canning

4) Lord Dufferin

TS THRA

Correct Answer: 4) Lord Dufferin

1S SHRA

Candidate Answer: 4) Lord Dufferin

1S SHRA

QID : 208 - The tears of the British cannot wash away the sins of Jallianwala — whose reaction
was this?

ST & iy STferdiaTal & UTd gt °f ¥ehd- Ug fbeiob! ufaiferan &t
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Options:

1) Mohammad Ali Jinnah
HigHq 3rcil forel bt

2) Mahatma Gandhi

HeTeT e Bt

3) Deshbandhu Chittaranjan Das

FRCPRE PR KA K|

4) Subhash Chandra Bose

GHIY T S Bl

Correct Answer: 1) Mohammad Ali Jinnah

Aiewe 3rch forar ot

Candidate Answer: 3) Deshbandhu Chittaranjan Das
aRIe Y e o

QID : 209 - In which city did the Congress pass the resolution of non-cooperation in its annual
function?

e 28R T GU 307 AT o 8 SN = gl &1 Uard U foar U1?
Options:

1) in Ahmedabad

3fgHaTEIG H

2) in Nagpur

IR o

3) in Calcutta
DIl |

4) in Bombay

dog

Correct Answer: 3) in Calcutta
Skl H

Candidate Answer: 4) in Bombay

deg

QID : 210 - Which movement was merged with the Non-Cooperation Movement?

SETNT Sfieia & ITY fhy Sfiaiea &1 g feam mar ut?
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Options:

1) Khilafat Movement

e sficier o

2) Quit India Movement
YR BIS! fiaa &

3) Champaran movement
YURT SHiGIeH B

4) Santhal Movement

TUT Sfigia &l

Correct Answer: 1) Khilafat Movement

faemwa siiqia &t

Candidate Answer: 1) Khilafat Movement

faemwa siigia &

QID : 211 - When did the Dandi March start?
GIS! A Y& g U2
Options:

1) March 12, 1930
12 ATE 1930 BT
2) March 13, 1930
13 Arf 1930 &I
3) March 14, 1930
14 9rf 1930 &I
4) March 15, 1930
15 A1 1930 &I

Correct Answer: 1) March 12, 1930
12 9rf 1930 &I

Candidate Answer: 1) March 12, 1930
12 ATE 1930 &1

QID : 212 - When was the Government of India Act passed?

HRAd WHR fffFad o urfkd garm ur?
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Options:

1) In 1936
1936 H
2)in 1935
1935 H
3)in 1934
1934 H
4)in 1933
1933 |

Correct Answer: 2) in 1935
1935 H

Candidate Answer: 1) In 1936
1936 H

QID : 213 - What was the attitude of the Congress towards Britain in the Second World War?

feea fasyags & S &1 e & ufd 3aar sa1 @17

Options:

1) Associate's
HedIl B

2) opponent's
faR¥eh 1

3) neutral
AdC] Bl

4) none of these

0 O fpddt 1 Y

Correct Answer: 2) opponent's

foR¥eht 1

Candidate Answer: 3) neutral
G Al

QID : 214 - When did the Quit India movement start?

YR BIS! G Hd L& gaT?
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Options:

1) In 1941
1941 H
2) In 1942
1942 H
3)in 1943
1943 H
4)in 1945
1945 H

Correct Answer: 2) In 1942
1942 7

Candidate Answer: 2) In 1942
1942 ¥

QID : 215 - The pattern of the net sown area varies greatly from one state to another. It is over 80
per cent of the total area in

Y ST T & BT Yo Th Isg I R o0 7 §gd 7 gl 31 78 A o Ahd BT 80
yfawa ¥ 31 g1

Options:

1) Madhya Pradesh
HE UG

2) Assam

SHIH

3) Rajasthan
RIS

4) Punjab

ERIC)

Correct Answer: 4) Punjab
UEIE|

Candidate Answer: 4) Punjab
LEIE]

QID : 216 - Which Buddhist shrine and UNESCO World Heritage site is also situated in Bihar?

B 1 Ag e T IR Za! 3y eRIeR wid ot fagR o fua 82
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Options:

1) Mahabodhi Temple

HeTaY AR

2) Mahamana Temple

HEHAT SUd

3) Mahasingh Temple

He1RfE HidR

4) Maheshwari Temple

e AR

Correct Answer: 1) Mahabodhi Temple

TRy Tl

Candidate Answer: 1) Mahabodhi Temple

TRTEIY dfeR

QID : 217 - Which state has made roof top rainwater harvesting structure compulsory to all the

houses across the state?

g g 3 g @RI F forw B R gl oet e e siard o & 82

Options:

1) Kerala
B
2) Karnataka

PicH

3) Tamil Nadu

4) Andhra Pradesh

3ty U=

Correct Answer: 3) Tamil Nadu

GIENEIS]

Candidate Answer: 4) Andhra Pradesh
3y TS

QID : 218 - Operation Flood is associated with

TR TS J T B
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Options:

1) Green Revolution
g sifdl

2) White Revolution
4 wifd

3) Black Revolution
DIeil ohifd

4) Pink Revolution

T[Tl shifd

Correct Answer: 2) White Revolution

A hifd

Candidate Answer: 2) White Revolution

A wifd

QID : 219 - India’s deposits are mainly found in the Amarkantak plateau, Maikal hills and
the plateau region of Bilaspur-Katni.

G‘u%—crg 38T TReTd: 3REHeD USR, Adhd URISal 3R fNaqR-de-t & Uort & & ure
|

Options:

1) Bauxite
CICSIES
2) Iron Ore
TG 3D
3) Steel

&

4) Manganese

Correct Answer: 1) Bauxite

EICSIES

Candidate Answer: 2) Iron Ore
G 3D

QID : 220 - Which state is the leading producer of Pyrites?

I |1 I U3 b1 Y IAGH 87
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Options:

1) Rajasthan
RSTRYTH

2) Karnataka
FHlcH

3) Kerala
E2G|

4) Bihar

fosR

Correct Answer: 4) Bihar

fagR

Candidate Answer: 3) Kerala

A

QID : 221 - The pattern consists of-
Ue H 8 &-
Options:

1) fixed order
IBIEGKER

2) indefinite order

3AfEd wH
3) Both
gl

4) None of these

PIs el

Correct Answer: 1) fixed order

BIEGER:

Candidate Answer: 1) fixed order

BIECER

QID : 222 - The measure of each angle of a square is-

T & UAP HIVT BT AT Bl ©-
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Options:

1) 45°
45°

2) 60°
60°

3) 90°
90°

4) 100°
100°

Correct Answer: 3) 90°
90°

Candidate Answer: 3) 90°
90°

QID : 223 - At what point will the clock minute hand be at 7:307?
7:30 9 TSI e &1 g3 o foig R grft?

Options:

Correct Answer: 3) 6
6

Candidate Answer: 3) 6
6

QID : 224 - If we rotate a right angled triangle of height 5 cm and base 3 cm about its height a full
turn, we get

I g9 5 At Hars 3R YR 3 It I1d U THSBIU YW B ITD! Sa18 & URd: Th T IFHR
GATY, M BH ——eeev foreran &
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Options:

1) cone of height 5 cm, base diameter 3 cm
P Bt SHaTs 5 T, YR ™ 3 JA

2) triangle of height 5 cm, base diameter 3 cm
By & Sars 5 I, YR = 3 I

3) cone of height 5 cm, base diameter 6 cm
P B Sals 5 JHT, YR A 6 JH

4) triangle of height 5 cm, base diameter 6 cm

BYS & S 5 I, YR A 6 I

Correct Answer: 3) cone of height 5 cm, base diameter 6 cm

P DI Hals 5 I, SATYR AN 6 TH

Candidate Answer: 2) triangle of height 5 cm, base diameter 3 cm

By &1 Fars 5 I, YR g 3 I

QID : 225 - What cross-section do you get when you give a vertical cut to a round apple?
T 3T U A U6 P SR FHe &d ¢ al HUD! DI AT ST HIe Heal g2

Options:

1) circle
EEd
2) Triangle

3) Square
i

4) rectangle
Sgd

Correct Answer: 1) circle
EEd

Candidate Answer: 1) circle
EEd

QID : 226 - The greatest common multiple of 16 and 20 is-

16 3R 20 BT HETH FHUTID ©-
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Options:

4) None of these

PIS el

Correct Answer: 2) 4
4

Candidate Answer: 2) 4
4

QID:227-(-5)+(-2)=?
(-5)+(-2)=7

Options:

Correct Answer: 2) -7
-7

Candidate Answer: 2) -7
-7

QID : 228 - |- 22| + |- 56| + |- 42| = ?

|- 22| + |- 56| + |- 42| = ?
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Options:

1) 130
130
2) 120
120
3) 140
140
4) 150
150

Correct Answer: 2) 120
120

Candidate Answer: 2) 120
120

QID : 229 - The sum of 2s + 4t -3u + 5v, -s + 2t + Qu - 11vand 3s -4t + 2u - 3v is
25 + 4t -3u + 5V, -5 + 2t + 9u - 11v 3R 3s - 4t + 2u - 3y HTANT @
Options:

1)4s-2t-8u-9v
4s- 2t- 8u - 9v
2)4s -2t + 8u-9v
4s -2t + 8u - 9v
3)4s +2t-8u-9v
4s + 2t - 8u - 9v
4)4s + 2t + 8u-9v
4s + 2t + 8u - 9v

Correct Answer: 4) 4s +2t+ 8u-9v
4s + 2t + 8u - 9v

Candidate Answer: 4) 4s + 2t + 8u - 9v
4s + 2t + 8u - 9v

QID:230- 9.6-34/10

9.6 —34/10
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Options:

1)6.2
6.2

2) 57
5.7

3) 4.2
4.2
4)12
1.2

Correct Answer: 1) 6.2
6.2

Candidate Answer: 1) 6.2
6.2

QID : 231 - A truck has 673 boxes of candies. Each box has a dozen candies in it. What is the
total number of candies on the truck?

% & B 8l & 673 f$ 1 TS o A U gol F8t 81 T R H! B! ot T vt 82

Options:

1) 8076

8076

2) 8067

8067

3) 8066

8066

4) 8077

8077

Correct Answer: 1) 8076
8076

Candidate Answer: 1) 8076
8076

QID : 232 - 15 divided by—3 is equal to

15 B3 J fIHIRId FA MR BT 8
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Options:

1) 12
12
2)-12
12
3)-5
-5
4)5
5

Correct Answer: 3) -5
-5

Candidate Answer: 3) -5
-5

QID : 233 - Calculate the sum of lengths: 21 m 13 cm, 33 m 55 cm and 45 m 6 cm.

TS P G B TUAT DY 21 Fiex 13 JHT, 33 Hiex 55 THT 3R 45 Hiex 6 I
Options:

1) 99m 74 cm
99 Hiex 74 It
2) 98m74cm
98 Hiex 74 it
3) 99m75cm
99 Hiex 75 It
4) 98m75cm
98 Hiex 75 94t

Correct Answer: 1) 99 m74cm

99 ez 74 It

Candidate Answer: 1) 99 m 74 cm
99 Hiex 74 It

QID : 234 - Meena divides a number by 2. She then divides the answer by 2. This is the same as
dividing the original number by:

T T T &1 2 9 fauiorg st 81 R a8 S A1 2 § fauiiid ot 81 U8 g S &l 2 ¥
I & & T B
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Options:

Correct Answer: 1) 4
4

Candidate Answer: 1) 4
4

QID : 235 - The length covered in one step by a person is called
et feR GRT U Hed B 91 B T8 AaTS Heardl §
Options:

1) Cubit

Hfae

2) Pace
IS|

3) Handspan
4) Finger

Correct Answer: 2) Pace

T

Candidate Answer: 2) Pace

Tt

QID : 236 - Father bought 10 kg 750 g of fruits (mangoes and apples). He had 6 kg 860 g of
mangoes. What is the weight of apples?

mﬁ%onoumW(sﬂn&ﬁ?@a)@ﬁélwéaumemsesoum&mm@amm
a1 87
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Options:

1) 3kg 990 g
3 fopar 990 U
2) 3kg 890 g
3 fopar 890 UM
3) 30 kg 890 g
30 foa 890 A
4) 3 kg 090 g
3 faret 090 I

Correct Answer: 2) 3 kg 890 ¢
3 fovett 890 I

Candidate Answer: 2) 3kg 890 g
3 fobeil 890 IH

QID : 237 - 1 metric ton is equal to------

1 Mo o SRIeR 8-
Options:

1) 1000 kilogram
1000 foraruma

2) 100 kilogram
100 fetum™

3) 10000 kilogram
10000 foeramd
4) 10 kilogram

10 foenam

Correct Answer: 1) 1000 kilogram

1000 fHaum™

Candidate Answer: 3) 10000 kilogram
10000 Ty

QID : 238 - What is the Volume of the Cube if the Perimeter of one face of a Cube is 40 cm?

Ife g &b T Baich T URHTY 40 JH § o1 I BT 3 T 82
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Options:

1) 800 Cm?®
800 13

2) 1000 Cm?
1000 7t
3) 600 Cm?*

a0

Correct Answer: 2) 1000 Cm3
1000 {2

Candidate Answer: 2) 1000 Cm?3
1000 F#3

QID : 239 - If Three Cubes of Metal of edges 6 cm, 8 cm, and 10 cm are melted and made into a
single cube. What is the edge of the new cube so formed?

I 6 Tt 8 TR SR 10 W frRY a1t erg & < &= ) Rrgarer T & o 9910 S| §9 UHR
I 71U U T fhRT T 872

Options:

1) 92 cm
92 Tt
2) 24 cm
24 I
3)18 cm
18 Tt
4) 12 cm
12 9

Correct Answer: 4) 12cm

12 IHt

Candidate Answer: 4) 12cm

12 It

QID : 240 - A die is thrown. What is the probability of getting an even prime number?

T U1 BhpT SildT 8. U JH T T-AT Ut B b1 WTRihdl &1 872
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Options:

1) 1/3
1/3
2) 1/4
1/4
3) 1/6
1/6
4)1/2
1/2

Correct Answer: 4) 1/2
1/2

Candidate Answer: 3) 1/6
1/6

QID : 241 - If we add first n odd numbers, we get
afe &1 U8 n fawy Gt Sired €, o g (ERGIE
Options:

1)n

n

2) n-1
n-1
3)n?
n2
4)n? -1
n? -1

Correct Answer: 3) n?
2
n

Candidate Answer: 3) n?
2
n

QID : 242 - If we add first n numbers, we get

1S B9 OB n e Siisd €, l & foreren &
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Options:

1) n(n+1)/2
n(n+1)/2
2) n-1

n-1

Correct Answer: 1) n(n+1)/2
n(n+1)/2

Candidate Answer: 1) n(n+1)/2
n(n+1)/2

QID : 243 - If Akshat has twelve two rupees coins and two five rupees coins. What is the total
amount with him?

e 3ferd & U &1 $U0 & IR Ryads 3R Uia IU3 & < Ryads § 1 3% U i T fahat 82
Options:

1) 43 rupees
43309
2) 34 rupees
34 300
3) 23 rupees
23 39

4) 32 rupees
3230

Correct Answer: 2) 34 rupees

34 30

Candidate Answer: 2) 34 rupees

34 3UY

QID : 244 - The cost price of an article is 65% of its selling price. If the profit is 560 rupees, find the
selling price.

T I H1 AN Ged IS fashd Jod BT 65% & | fe aTH 560 U 7, a1 faha T 1d Hiford|
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Options:

1) 1600 rupees
1600 ST
2) 2000 rupees
2000 ¥4
3) 2500 rupees
2500 U
4) 2250 rupees
2250 ¥4

Correct Answer: 1) 1600 rupees

1600 3T

Candidate Answer: 1) 1600 rupees
1600 ¥TY

QID : 245 - The cost of an article is 70% of the selling price. If there is an excess expenditure on
sales of 800 rupees still the trader manages to earn a profit of 20%, find the cost price.

TS ag B ANTd 3sd G 1 70% ¢ | AfG fash! IR 800 ¥ 7 Sifalkad =g g af ot IRt 20%
&1 Y ST UTdT &, AT Hed J1d Biford |

Options:

1) 3000 rupees
3000 U
2) 3500 rupees
3500 U
3) 4500 rupees
4500 ¥4
4) 7000 rupees
7000 ITA

Correct Answer: 2) 3500 rupees

3500 ¥UY

Candidate Answer: 2) 3500 rupees
3500 U

QID : 246 - In triangles ABC and DEF; »B=90°,BC=8cm, -A=40°,DE=8cm, ».F=40" and -E=90".
Then, which of the following statements is true?

s ABC 3iR DEF #; .B=90°,BC=8cm, .A=40",DE=8cm, .F=40°" 3R .E=90" §| qd, i FHyt
A Y DF-I1 HYH I 57
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Options:

1) AABC = AFED, by RHS
AABC@AFED, RHS gRT
2) AABC = ADFE, by AAS
AABC @ ADFE, AAS gRT
3) AABC = AFED, by AAS
AABC@ AFED, AAS gRT
4) AABC = ADEF, by RHS
AABC@ ADEF, RHS gRT

Correct Answer: 3) AABC = AFED, by AAS
AABC@ AFED, AAS gRT

Candidate Answer: 4) AABC = ADEF, by RHS
AABC@ ADEF, RHS gRI

QID : 247 - if 0.139 + 0.75 + 2.105 - ( 1.001) X 1.1 =2 - k , then the value of K is

Tfd 0.139 + 0.75 + 2.105- (1.001) X 1.1 =2-k 8, AWK BTAA &
Options:

1) 0.8925
0.8925
2) 0.982
0.982
3)0.1071
0.1071
4)0.1075
0.1075

Correct Answer: 3) 0.1071
0.1071

Candidate Answer: 3) 0.1071
0.1071

QID : 248 - The marked price of an article is ¥840. A shopkeeper gives a discount of 15% on the
marked price and still makes a profit of 19% . What is the cost price of the article?

forelt I 1 3ifhd Yoot 3840 B | U HIMGR 3 A% Bl 3ifhd T W 15% BT e SHR a9l g,
3R foRR +t I¥ 19% HT ATH BT ¢ | I BT 50 Hed T 82

http://btet.sifyreg.com/bsebregjan24/ccgsa_mar24/process.php?appid=...

22-03-2024, 10:56



COMPETENCY TEST FOR LOCAL BODIES TEACHER(CTT),2024...

49 of 75

Options:

1) 540
540
2) 580
580
3) 600
600
4) 640
640

Correct Answer: 3) 600
600

Candidate Answer: 2) 580
580

QID : 249 - The volume of a cube is 2197 cm®. What is its lateral surface area (in cm?)?
fH &1 &7 S 2197 cme B | STUHT UIRY TS 19 8% (cm? & ) |1 2
Options:

1) 676
676
2)576
576

3) 845
845

4) 1014
1014

Correct Answer: 1) 676
676

Candidate Answer: 1) 676
676

QID : 250 - The number of distinct prime factors of the largest 6-digit number is

6 - 3P B TS Y ISt T & A= 3T UGSt Bt G §
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Options:

Correct Answer: 3) 5
5

Candidate Answer: 4) 6
6

QID : 251 - Individualistic family pattern is fastly increasing because of the following
frafafad eRol § afdarc: afikaie de dof 3 3¢ w1 e
Options:

1) Westernization

gigrienor

2) Imagination of free lifestyle

ol S Relt BT eaT

3) Population explosion and inflation

SRRET faehie 3R garemifa

4) Both Westernization and imagination of free lifestyle

gfgrfieor 3R Gad Sfia=ich & dHeaT

Correct Answer: 4) Both Westernization and imagination of free lifestyle

UfyieBRur 3R gad Sha=ielt &1 dHean

Candidate Answer: 4) Both Westernization and imagination of free lifestyle

gfgrieor 3R Gad Sfia=ic & dedT

QID : 252 - Work : Living : : Play :

W:TEFH::@FHT:
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Options:

1) Fun
Hell
2) Living

3) Recreation
RS

4) Games

K|

Correct Answer: 3) Recreation

AR

Candidate Answer: 3) Recreation

HARSH

QID : 253 - We get from hen and duck
il 3R e @ g EUSECIE

Options:

1_) egg

Sl

2) all of these
gt

3) goat

L]

4) milk

[l

Correct Answer: 1) egg
3fsT

Candidate Answer: 1) egg
3feT

QID : 254 - Which of the following order is correct, regarding the life cycle of the butterfly?

faelt & Shaw =% & Yey 7 FHufafed & J &5 91 5H 98t 82
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Options:

1) Egg Larva Pupa Adult
3{S T a1 U I9H
2) Larva Egg Pupa Adult
qrat ST T J

3) Pupa Egg Larva Adult
T 37T A1af aeRE

4) Larva Pupa Egg Adult
At T SiET I

Correct Answer: 1) Egg Larva Pupa Adult
3S &1 Al wul aa%h

Candidate Answer: 2) Larva Egg Pupa Adult
qTat 38T T TR

QID : 255 - The animals that live in forests are called
SiTel! & @ a1 SIaR] Y Bl ol 8
Options:

1) Aerial animals
gals SHaR

2) Aquatic animals
S Sig

3) Domestic animals
ERGRSIECH

4) Wild animals
SRl SR

Correct Answer: 4) Wild animals
SiTel! SR
Candidate Answer: 4) Wild animals

SHTT SIFeR

QID : 256 - What is the sleeping time of a python?

3SR & T BT JHY FT 872
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Options:

1) 18hrs.
18 Hc.
2) 3hrs.
3¢

3) 3.6hrs
3.6 €c
4) 24hrs.
24 ¢

Correct Answer: 1) 18hrs.

18 e,

Candidate Answer: 1) 18hrs.
18 H¢.

QID : 257 - is the ability to do work.

BT B BT GHEAT |

4) none of these

39 A BIE Tl

Correct Answer: 1) energy

Exi

Candidate Answer: 1) energy

QID : 258 - How is milk pasteurised?

Y & UG d Y T oirar 87
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Options:

Correct Answer: 4)

Candidate Answer: 3)

frafaRea & 9 &F a1 ST Tad gafad 82

Options:

1) iron:anaemia
TR THiTHT
2) vitamin B5 : pellagra
faeTfiF ofis - gemn
3) vitamin B3 : niacin
faeTf «its : Ay
4) vitamin k : blood clotting
AT K : Tad T YerebT STHAT

Correct Answer: 2)

fareTfar ofts : Jamn

vitamin B5 : pellagra

Candidate Answer: 2)

faeTim it - gem

be due to the

54 of 75

1) By heating it at 100 C for 15 min or at 90 C for 5 min

34 100 C W 15 e & forg a1 90 ¢ R 5 e a& ™ ey
2) By heating it at 100 C for 15 min or at 90 C for 32 min

34 100 C W 15 e & faw a1 90 ¢ WR 32 e a& T axed
3) By heating it at 71 C for 15 min or at 62 C for 5 sec

34 15 e & faw 71 ¢ R a1 5 s & oW 62 C R TH s
4) By heating it at 71 C for 15 s or at 62 C for 32 min

U 71 C W 15 s & AU A1 62 C W 32 e a& 71 I

By heating it at 71 C for 15 s or at 62 C for 32 min
V71 CW 155 F fAW a1 62 C W 32 fiFe g T o

By heating it at 71 C for 15 min or at 62 C for 5 sec
34 15 e & flt 71 ¢ R A1 5 Ydbe & AT 62 C W TH b

QID : 259 - Which of the following pairs is incorrectly matched?

vitamin B5 : pellagra

QID : 260 - Durga lives in a village and cooks food on a chulha (earthen stove) using wood or cow
dung cakes as fuel. She has been suffering from severe cough for the last three months. This may

g1 U TiTa T Xga 8 SR e & T A dbat AT T & MeR & IUA! BT SUTNT HRb g IR W
TG 31 98 s i 7 T ik Wil @ difsd g1 s9e1 SRl U8 8 hdT §
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Options:

1) smoke produced by burning fuels which may have caused her allergy

S ST @ I Yt e I warsh 81 bl §

2) old age and pollution inside and outside her hut

D! FTS! & 3feR 3R IR UGUUT SR T

3) carbon monoxide produced by burning fuel which may have been deposited in her respiratory
tract

HTE AIHTFIISS ST S ¥ IO Bl § S THId ISP 4T Uy § 51 81 718 §

4) soot produced by burning the fuels which may have been deposited in her respiratory tract

YT TAM F IUT BIoRd S ITb 4T 9y H S 81 15 gt

Correct Answer: 4) soot produced by burning the fuels which may have been deposited in her
respiratory tract

S ST & I PIieRE Sl IFP 4G Uy F ST 81 1 gt

Candidate Answer: 3) carbon monoxide produced by burning fuel which may have been
deposited in her respiratory tract

HTE AIHTFIISS ST S ¥ ITF Bl § S IHIT IS 4T Uy H 51 81 718 ©

QID : 261 - In which one of the following states of our country do most people like to eat sea fish
cooked in coconut oil?

mﬁ?%ﬁyﬁ@aﬁ@%mﬁ%ﬁnmﬁnﬂ%ﬁaﬁmﬂgmmmm
DR 572

Options:

1) mizoram
Ecice)
2) goa
Tar
3) jammu and kashmir
T 3R HRHR
4) bihar

fogR

Correct Answer: 2) goa

Bic]

Candidate Answer: 2) goa

T
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Options:

1) Agriculture

P

2) Milk production
Y 3dlad

3) Indigo production
e Iaare

4) Rice production
dIae] Jdlqd

Correct Answer: 2) Milk production
Y 3diad

Candidate Answer: 2) Milk production
Y 3dicH

Options:

1) Proteins
e

2) Vitamins
ICEIEE]

3) Serials
SIS

4) Nutrients
Y& dd

Correct Answer: 4) Nutrients

Uy dcd

Candidate Answer: 4) Nutrients

Uy& dd

QID : 264 - Macronutrients found in soil

ot & ure SF a1d A gty
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Options:

1) N, C, Ca, Hg, Pb
N, C, Ca, Hg, Pb
2)N,P, K, Mg, S
N, P, K, Mg, S
3)N, C, Ga

N, C, Ga,

4)K, Mg, S, C, Ga
K, Mg, S, C, Ga

Correct Answer: 2) N, P, K, Mg, S
N, P, K, Mg, S

Candidate Answer: 2) N, P, K, Mg, S
N, P, K, Mg, S

Options:

1) Fertilisers
IS

2) Compost
dlq

3) Green manure

RS
4) both

ElEl

Correct Answer: 3) Green manure

RRIRCIH

Candidate Answer: 3) Green manure

RRIRCI

QID : 266 - What is the number of official food groups on the USDA's Food Pyramid?

JUISIY & @ RIS R onfiemies @ THg! &t T fasat 82
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Options:

4) 10
10

Correct Answer: 3) 6
6

Candidate Answer: 4) 10
10

QID : 267 - Salt is made from:-
TH® ST § B -
Options:

1) Sea water.
SECEaRIEl
2) Lake water.
e &1 grt

3) Fresh water
TS Urit

4) River water.

ARG

Correct Answer: 3) Fresh water

GISIRIE]

Candidate Answer: 1) Sea water.

Y 1 U

QID : 268 - Who was the first woman to conquer Everest?

TARE g B dTall ugel! Afge o1 e
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Options:

1) Bachendri Pal.
EEEIRIN]

2) Sunita Williams.
e faferae

3) Kalpana Chawla
EICEIRCIEN]

4) Mary com.

P\

Correct Answer: 1) Bachendri Pal.

CEFRIS]

Candidate Answer: 1) Bachendri Pal.

CEFRIG]

QID : 269 - Asia’s first underground Hydel Project is located in which of the following States in
India?

TR Y ugelt yfteTa St fagyd ufkdie T YRd & Fafifed 3 @ fh wen & fRua 82

Options:

1) Jammu and Kashmir
0] HRAR

2) Himachal Pradesh
IREICERS R

3) Arunachal Pradesh
ST USRI

4) Uttar Pradesh

IR U

Correct Answer: 2) Himachal Pradesh

ferrd uew

Candidate Answer: 2) Himachal Pradesh

REIEEREE

QID : 270 - Where is the old and over 2 km-long ‘Pamban Railway Bridge’, which attracts tourists
from all over the country?

R 3R 2 Tt & oifies dfar ra Yad foor gl 8, off W <X I Tedh! &1 AHH N Bl 672
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Options:

1) Nilgiris
BINIARY]

2) Krishna delta
PN Seel

3) Palk straits
Ui SIS H-HY
4) Malabar coast
HITIR dc

Correct Answer: 3) Palk straits
Ui SIS H-HE

Candidate Answer: 2) Krishna delta

FU Sl

QID : 271 - Bachendri Pal is the first woman mountaineer to climb
CEFRIN] R I arell ugel Afga udariel g

Options:

1) Nanda Devi
a1 gt

2) K2

B2

3) kanchanjangha
EEEEU

4) Mount Everest

TT3C TaRe

Correct Answer: 4) Mount Everest

TT3T TRE

Candidate Answer: 4) Mount Everest

3T TR

QID : 272 - Which of the following water body has saline water?

frafafad # @ g et e &1 o @R 82
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Options:

1) Ponds
GISIE]

2) Ocean
HeTR

3) Spring
SRAT

4) Lake

B

Correct Answer: 2) Ocean

HeTR

Candidate Answer: 2) Ocean

HeTHNR

QID : 273 - What do we call the animals that are capable of living both on land and in the water?
B 3 THGRI B T HEd § off ST 3R T+ g1 OR 36 § e 82

Options:

1) Mammals
YR

2) Amphibians
SHINR

3) Aquatic
el

4) Hydrophytes

= <

Correct Answer: 2) Amphibians
SHINR

Candidate Answer: 2) Amphibians
SHIR

QID : 274 - When a mixture of Salt + Sugar + Vinegar + Lemon juice + Soda was added into
water, it resulted in the formation of a:

S 0D + AT + RRepT + A D1 I + a1 o1 frgior ar=it & fiyeran man, af s9db1 Uk ag g
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Options:

1) Soluble mixture

oIt o

2) Layers of different mixtures

faftre fHson o1 o

3) Mixture in which all ingredients are mixed except soda that forms a separate layer
fRysyor forad TieT o) Srgs) Tt anht fAfyd gt 8 o U SieT WRd S @

4) None of these

39 A BIE T

Correct Answer: 1) Soluble mixture

ERERIGEEE]

Candidate Answer: 1) Soluble mixture

oIt o

QID : 275 - Which of the following statement is true.

fFofad 7§ 9§ &9 91 sy ga gl

Options:

1) Businesses and industries are responsible for water pollution
e Ty % T a9 3R I RFeR 3

2) The flow of water increases in summers

W g B STl &1 YaTg 96 ol §

3) Swimming in unclean water is healthy

TS U o ORAT Wreza e §

4) 28% of water on earth is available for drinking

gedl R 28% U 4 & forg Suersy @

Correct Answer: 1) Businesses and industries are responsible for water pollution

STl UGl & 1Y saer SR I RieR §

Candidate Answer: 1) Businesses and industries are responsible for water pollution

WIel UGNl & fo e 3R IENT RieR §

QID : 276 - Pollution of water bodies can be controlled by .

S BT & Ugwur Y gr1 Ffa fasan o g B
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Options:

1) releasing industrial effluents into water bodies.
3N 3rufRmt &) oia el & sie|

2) dumping waste in water bodies.

el Tl H el U BT

3) throwing plastic into water bodies.

WIRe® o ofd Fobrl § hapT|

4) treatment of sewage waste before disposal.

e ¥ ugd Hiaw 3ulRiy &1 ITER|

Correct Answer: 4) treatment of sewage waste before disposal.

e @ yga Hias uly &1 ITER|

Candidate Answer: 4) treatment of sewage waste before disposal.

e ¥ ugd s SRy & STER |

QID : 277 - The maximum water pollution is caused by~
TG AU H HRUE B

Options:

1) de'tergents

2) pesticides

3) industrial wastes

hefie srafkiy

4) ammonia

ST

Correct Answer: 2) pesticides

PIcARIG

Candidate Answer: 3) industrial wastes

N Ry

QID : 278 - What is the shape of the cell of a beehive?

TYTR & T BT HIRIBT P HTBR BT Gl 32
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Options:

1) Rectangle
3d
2) Hexagonal

3) Circular
CIREE
4) Oval

SISIEaN

Correct Answer: 2) Hexagonal

Yol

Candidate Answer: 2) Hexagonal

LREALIR]

QID : 279 - Why animal skins and furs used in Igloo on floor?

o H T TR SHGR] 1 W1 3R B BT IUTIT o} febam SiTar 82

Options:

1) Used as carpet

BT & T H IGANT [ha1 STl 8
2) To enhance beauty
Jerar M & farg

3) To make igloo warm

3 1 TH B & forg

4) All of these

T8 9 gt

Correct Answer: 4) All of these

94 T 9t

Candidate Answer: 3) To make igloo warm

3 ! TH B & forg

QID : 280 - Houseboats are made from

RSREIE ¥ ¥ 1 §
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Options:

1) wood
DBl

2) rubber
RER

3) plastic
WRSD
4) glass
CIE!

Correct Answer: 1) wood

SEaS]]

Candidate Answer: 1) wood

eS|

QID : 281 - Which of the following food products are the best sources of animal proteins?
FEfIed § 9 D 3 W IdTG Y WICH S Jad 3T 9id 67
Options:

1) Milk

[+l

2) Egg

3HST

3) Cheese
TR

4) All of these

T gyt

Correct Answer: 4) All of these

T gt

Candidate Answer: 3) Cheese

TR

QID : 282 - The addition of these adulterants lowers the value of food.

firaract &1 e I UeH &1 el B g ST 3
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Options:

1) Substance
gared
2) Quality

3) Nutrients

Ivd dd
4) Quantity
HE=AT

Correct Answer: 3) Nutrients

Uy& dd

Candidate Answer: 2) Quality

QID : 283 - Which one of the following is a contaminant?
frafaRed & 9 & a1 Ue Agus 82
Options:

1) Urea

afear

2) Pesticides
CIRSINED

3) Iron filings in tea
A1 H dle 1 RIal
4) All of these

g g4t

Correct Answer: 4) All of these

T gut

Candidate Answer: 4) All of these

T it

QID : 284 - Which of the following will float on water?

fFrafafed & 9 & ot R e
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Correct Answer: 2) Ice

Bk

Candidate Answer: 2) Ice

ELg

QID : 285 - Which of the following is hard?

fafafed § 9 o AT HIR 82
Options:

1) Cotton
PU™"

2) Sponge
Sl

3) lIron
ElG

4) Mirror

quur

Correct Answer: 3) Iron

ofIgT

Candidate Answer: 3) lron

et

QID : 286 - Energy flow and energy transformation in a living system follow

feraf) sfad womeht & Soif waTe 3R Foif uRad= &1 3gERu gl 8
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Options:

1) Biogenetic law
SASHICH BT

2) Law of thermodynamics
SRTIAD! BT gH

3) Law of limiting factor
Hiford R &1 FH

4) Liebig’s law of minimum

feiferT o1 =gHaa fAgg

Correct Answer: 2) Law of thermodynamics

SHMP! BT HaH

Candidate Answer: 2) Law of thermodynamics

SR &1 fFad

QID : 287 - Living things
Yeratersd of 3if &

Options:

1) Grow and reproduce

DIRIBIS BT faHTSH

2) Respond to stimuli and respire

CANEICINCESIN

3) Excrete wastes from the body and need food

AR IRR 7 811 archt it Iramafes ufafsanett &1 oot A
4) All of these

HaFrdTe

Correct Answer: 1) Grow and reproduce

PHIRBT3A BT faHTSH

Candidate Answer: 1) Grow and reproduce

PIRBT3N BT fAHTS

QID : 288 - is an abiotic component ?

TP NP UcH B ?
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Correct Answer: 3) Soil

foret

Candidate Answer: 3) Soll

et

QID : 289 - Motion in a circular path is called ?

bR TY H T B DB I 872
Options:

1) Circular motion
JATHR T

2) Periodic motion

& IGIBCRIIG

3) Rectilinear motion
Rty fa

4) none of these

ERCECIEET]

Correct Answer: 1) Circular motion

CRIEARRIIR]

Candidate Answer: 1) Circular motion

JATHR T

QID : 290 - An example of rectilinear motion is

ey 11fd &1 T IeeRur®
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Options:

1) apple falling from a tree
IS TH IS AR @R

2) motion of a car on road
TSP R Th HR B T

3) a spinning top

Teh AT gof 2

4) both (a) and (b)

T ¥ 7el fadhed wel @

Correct Answer: 4) both (a) and (b)
T ¥ wTe] fadhed Tel §

Candidate Answer: 2) motion of a car on road

JSh R Th HR I Tfd

QID : 291 - A simple pendulum takes 32 s to complete 20 oscillations. What is the time-period of
this pendulum?

TS YR A B 20 S GRT 6 | 325 BT THI AT ¢ | 3 UGAH ST THarafes o g2
Options:

1)16s
16S
2)26s
2.6S
3)3.6s
368
4)48s
488

Correct Answer: 1) 16s
1.6S

Candidate Answer: 1) 1.6s
1.6S

QID : 292 - is a safety wire which protects us from electric shocks and electric
fire.

TP GR& IR ¢ ot gH faoieh & e 3R faoielt & 3T § J=mar 3|
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Options:

1) Earth wire

31 IR 1 S @ JeT AR
2) Neutral wire
deR/Ycd dR

3) Live wire

%9 dR 1 fagg+y drR

4) None of these

39 A BIE T

Correct Answer: 1) Earth wire

31 IRR 1 THH ¥ 8T dR

Candidate Answer: 1) Earth wire

31 IR a1 S ¥ 98T aR

QID : 293 - Metals are of electricity.
YTqe faggd & &aik

Options:

1) Absorber

KGRI Ea

2) Conductors

REINEY

3) Insulators

4) Deflectors

faaus

Correct Answer: 2) Conductors

REINED

Candidate Answer: 2) Conductors

BEINED

QID : 294 - When the switch of an electric torch is in ON position electric current flows from the
electric cell to the filament of an electric bulb due to which it gets and the bulb .

e fagyd erd o1 Rag off fRufa & gian € a fagyga 41 faggd 9 ¥ faggd 98 & fhamde a&
yaed gl g PP PRUITE . T 8iRs e §l
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Options:

1) cooled, does not glow
2) heated, does not glow
T, TG el §

3) heated, glows

T, THEdT §

4) cooled, glows

38T, IHGAT §

Correct Answer: 3) heated, glows
T, TG §

Candidate Answer: 3) heated, glows
T, Il §

QID : 295 - Two charged objects are brought close to each other. Choose the most appropriate
statement from the following options:

dfed @t faggd upfa & R TS IS gRI 3 7S o

Options:

1) They may attract

g e

2) They may repel

3) They may attract or repel depending on the type of charges they carry

4) There will be no effect

U

Correct Answer: 3) They may attract or repel depending on the type of charges they carry
STfEA Thapfer
Candidate Answer: 3) They may attract or repel depending on the type of charges they carry

e et

QID : 296 - Read the following sentences carefully, and choose the incorrect one:

fafeiad Hul )R faR &% iR I8 HY= T
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Options:

1) The magnitude of an earthquake is expressed on the Richter scale.

TgTe! &l B fasteft iR &1 oAy o1fies gt § Fifes U9 & o S1ed qHdd &t gol § o9 &

31 e gid B

2) The weak zones of earth’s crust are called “seismic zones”.

o dfed gt R fRar 8, df 98 Uty 1 JHU Ugands 3R ANl &l ofiF AR 9gd 1A= R el

2l

3) An earthquake having magnitudes higher than 7 on the Richter scale, are really destructive

earthquakes.

ST TTTH T UGV ¢ ForepT ITANT fhdt SHRA ! fasiell & UHE A s & o fpar siar g1

4) None of these

T 9 it

Correct Answer: 4) None of these

94 T 9t

Candidate Answer: 4) None of these

=99 O gt

QID : 297 - The shaking of earth is called
Rl BT R Pearar g

Options:

1) Tsunami

SGIL]

2) Volcano

ATt

3) Earthquake

Hed
4) All of these

Tt faeed Tt R

Correct Answer: 3) Earthquake

YU

Candidate Answer: 3) Earthquake
Hed

QID : 298 - Seismograph is an instrument used to

RIEU® T SUBRUT ¢ o1 IUTNT fobar ST @
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Options:

1) Record strength of wind

TaT B! AIdhd NP1 B & [T

2) Record vibrations of earthquake
YU & HUH RIS B & 1Y

3) Record lightening

dfed Rl & & forg

4) Record temperature

auHE Repls & & fam

Correct Answer: 2) Record vibrations of earthquake

Y& & S RpTS B & o

Candidate Answer: 2) Record vibrations of earthquake

Y& & HU RBIS B & o

QID : 299 - Which of the following indicates the solid state of the water?

fafaRad § @ ®F Ul &1 31 /a1 &1 R FRa g2
Options:

1) Rain
2) Snow

feTura

3) Water vapour
ENEIRY
4) All of these

99 g 9t

Correct Answer: 2) Snow

IREEIG]

Candidate Answer: 2) Snow

ferura

QID : 300 - Which of the following resources is not a non-renewable resource?

fPafiiad § ¥ & 91 g9 TR-Tdeuig I91ed T8 82
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Options:

1) Coal
DI

2) Petroleum

Uaiferad

~

3) Natural Gas

WHfae® 19

4) none of these

39 A BIE T

Correct Answer: 4) none of these

3 A DI Tl

Candidate Answer: 4) none of these

EREECIEE]
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